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WHEinorEwie
English Language

commact altemnative 1o fill in the blank.

86. She let her horse _ in the field.
(A) Loosen (B) Loose
(C) Loosely (D) Lose
~87. Some people regard the world as an
(A) Imitation (B) Allusion
(C) Eliusion (D) Musion

. Directions for 88 and 89 : In the given
sentence, identify the;part which contains error.

88. This is one (A)/ of the companies (B)/
who has done (C) / well for the past
two years (D).

| cannot sanction (A) / such a large
sum (B) / without no permissipn(C) /
of the manager (D).

Directions for 90 and 91 : Choose the
alternative which can be substituted for the

89.
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(A) Outdated (B) Absolute
5 ~C) Oppressed (D) Concurrent
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wm

B) i
© 3 ©)
(A) o= ®) ¥
(C) ¥ (D) =R
97. THEEITHR
(A) HaEsag
(B) @ @A R
(C) HmEsd gl
(D) HemEaEmEl
| 98. 3 o wse?
“ @ (B) S
| ©m (D) W






